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equation FRHARE (ISR B TS AL ER (] ? (4%)
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3.Given two isolated market supplied by a single monopolist let the two
corresponding demand function be P, =12-Q,, P, =20-3Q, . Suppose the
monopolist’s total cost functionis C=3+2(Q, +Q,).

(1) What will prices, sales, and marginal revenue be in the two markets under a
regime of price discrimination, and what profit will the monopolist earn? (4%)

(2) Find the corresponding value if the monopolist cannot discriminate? (6%)
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5. You are given the following information about an economy: (12 43)
Gross private domestic consumption = 100
Gross private domestic investment = 60
Government purchases of goods and services = 40
Gross national product (GNP) = 300
Taxes = 120
Government transfer payments to domestic private sector = 50
Interest payments from the government to the domestic private sector = 15
(Assume all interest payments by the government go to domestic households.)
Factor income received from rest of world =9
Factor payments made to rest of world =5
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Find the following, assuming that government investment is zero:
(1) GDP (3%)

(2) Current account (3%)

(3) Private saving (3%)

(4) National Saving (3%)
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C=850+750Y
1=950-50i
L, =02v
L, =150-50i
MS =600
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